NIBSCHOOL.COM

STD:10 MATHS

Gmu : 1 saus PART-A 50 gugjj

e [seliaial deu [Aseu vals 5. (sl 12191) 50

% 70 7 20 @8Rl WY A AL sin 70 = cos 26, A2sin3-J3tand0=____

(A) -1 B) 1-3 € 0 (D) 1
8 . (1+sinB)(1-sin0)
N 2 =y % N
A tan® 6 = - (1= cos 0)(1 + cos ) Al ua .
w oo o W
) 3 B) 49 © 5 D) o

3 30 aiod s Pl DA B3 daeell 1.5 90 g2 w A Ad e w2 254 8, dl Frrell

ol A WYL WO o,

(A) 45 (B) 20 ©) 30 (D) 60
ogaflel 201 30 UL Wl Glouaion Wl w2 Al i ezl a 3le2 Glaus uR wsiA.
g e o - D LN
(A) "3 (B) Z2a (©) 5 (D) 7 B
=\ 5 N 3 ° ™\
mtanA=F L (sin A + cos A) sec A 11 M4 .

8 = B) = 0 2 D) —
(A) D (B) 5 © D (D) B
Atan 50 - tan 40 =1, A0 = _____

(A) 10 B) 9 C€) 7 D) 3

apallet et (Bt A o) st Dl GeAagiol 45° ©. A ol usintd 2 x i il Gl y
N A
8, dl IO

(A) x=2y B) x>y (C) x<y D) ¥=Y%

PO (0, 15) ~ eiznt oudrii w0dd Big 8. P uiedl adart €kl 2usls adand T w U
8. A PT = § ¢y, dL OP =
(A) 13 (B) 17 (e 7 (D) 23




10.

11.

12.

13

14.

15.

16.

17.

18.

19.

20.

-

O (0, 13) <1 s @aL O (0, 12) A WA 6. Wl dous 82l
(A) 10 B) 25 (C) 8 D) 5

s alaod B2 - sized dond 15 Wl 8. alwad adousiz s wr BR2 - sial
20 MMz $3 9, «l A2 Azgt vugl ual.

(A) 471 (B) 235.5 (C) 706.5 (D) 141.3

616 Axgaan ada-dl B WS WA,

(A) 7 (B) 196 ©) i;— (D) 14

as adadusiz ol Brra 35 2z 9. ol Bdl §2d s 22l g CIE)

anag us.

(A) 165 (B) 150 (C) 180 (D) 175

As %2 NS A Mg 52 wiedliasd Brravdiqal Wy wmi B, dl st Ygollel el
8.

(A) 4:3 B) 3:1 (. 1352 D) 2:1

2.1 M2z cu 213 5 122 GlusH-l anus 2isll asaudld dagn e3? 8.

(A) 66 (B) 44 © 22 (D) 33

8 sl Brrucun sidadanl vidold Bse] asan axga A2 8.

(A) 16 (B) 64 (C) 256 (D) 8

12 0 Bz wA 20 A [ds Glrudawu g asyssa _ A2 A,

(A) 807 (B) 60n (C) 240 m (D) 120

A sdas-l Brral sael sA, dl d- assa aAg] WA,

(A) 2 (B) “;‘ (©) % D) 8

48 wadisi-i 2ugf - [Qa W weus x = 70, If; = 43 + f M A = 66 O, dl vedl
augla f =

(A) 5 (B) 23 (). .7 (D) 27
A x-Z=3uAx +z=45dM=
(A) 26 (B) 24 (C) 23 (D) 25

2SR A2l AU~ o,
(A) 1 B) 0 (C) 0.6 (D) 0.5




21.

22.

23.

24.

25.

26.

27,

28.

29.

30.

31.

AS wou az-u-dl Aeuasi % Al 0L A A0 SIA.

Sy 1 (B) -0.5 ©) -1 (D) 0

a5 Agf-RaReL 2 n = 100, A = 20 w1 ¥ = 20, A Ifd; =
(A) 1 (B) 20 (C) 100 D) 0
A oL, (a, b) = 1, diap (@a-b,a+b)=
(A) a2dlb (B) 4 (C) 1»ud4 (D) a+buua-b
0.02222 8.
(A) A AvAL (B) U ©) wals (D) 2
Ww sgudl pir) = Tx - 3 4 Y o,
(A) = (B) £ ©) ! (D) ot

3 7 3 7

A 9Ns waud (x + 1) el
(A) px) =x>-2x-1 (B) p(x)=x>+ 2% -1
©) px)=x -1 (D) plx) =x> + 22 + 2x + 1
p(x) = 32 —x -4 -iydla w‘tﬁ S, dlaZp + plo = —
(A) 4 (B) — ©) 2 (D) -4

9 9

& vl 9s vl M- vis x AA sl s y B, B WAL 2SIAL U BEA-HEA
$di nadl AvaL o, '

(A) 10x +y B) x+y € y-x (D) 10y + x
pix) =x2-x -2 AU X-8A

(A) 8% B) s gl St O,

(©) ARt [ Bigadlui St ©. D) A Bt Bigriui 8% 6.

& 2ivaiedl ARG 10 B 4 dfidd 2 S, A vl AL WA AvAL
A) 4 B) 8 (C) 6 (D) 2
wlls0yen 2x +y = 6 L dx + 2y =5 A GyaoL sl w ?

(A) {(x, y)2x+y=0;xy€ R} B) ¢
(C) iriddLsL (D) {(x, yV2x +y=6,xy€ R}




32.

33.

4.

35.

37.

38.

39.

40.

41.

42.

Wiz (il Gieed aae y a¥ udai x adl gdl, dl gemi duell G-l ARl dean ay
wy ?

(A) x + Sy B) 5x-y (C) Sx+y (D) x-Sy
Reud wells20l 5x2 — 4x — 1 = 0L Wl @3v ax? + bx + ¢ = 0 A Avuadl, b =

(A) -1 (B) -4 ©) 5 (D) 4
352 —x (m —2) — 1 =0 i & ol w2 [RA v 1, dim = A,
(A) 10 (B) 0 ©) -2 (D) 2
Rend s 3x2 —kr + 2= 0 A As G3a 1 &, dik =
(A) -5 (B) -4 €) 2 D) 5
. DAl 53 Bana w501 Al ?
A x(x+D+8=x+2)(x-2) B) x(2x+3)=x*+1
€ x+2P=x-4 D) x=2P+1=2-3

Reud g0 262 — 4y + 3 = 0 0 [Qdas 2al wy ?
(A) 4 B) -8 © -4 (D) 8

(1)+(1+1)+(1+1+1)+...+(1+1+1...+n-1qw.ct)=___

n(n +1 n—1)n
(A) n? (B) ( : ) © (——2)— D) n
AT, =7 T, =4, dl Ty =
A) 1 (B) -11 € 9 (D) 11
AS, =120 + 21, &, AT, =
(A) 24n + 33 ~ B) 12n+9 (©) 12n+33 (D) 24n+9

AABC ®iM e AB,Ne¢e AC, 39 MN |BC DA AL 63 wer ) ?

(A) AB - AN = AM - AC (B) AB - NC = AC - MB

(C) AM - MB = AN - NC (D) AN - MB = AM * NC
APQRHiP—M—Q%\P—N—R%‘lPQ:18,PM=12,PR=9=M3tNR=
dl MN |QR.

9

(A) 3 (B) 24 i S D) 6




43.

44.

45.

46.

47.

48.

49.

50.

AABC i ZB sizuil 8. 3 BD a4 8. RAD = BD = 5, d DC = ____

A) 5 (B) 5 (C) 25 (D) 1

dorlizan [sell dons 13 8. R deilaadd Asouy WY 5 da, d dordizadd WG
Wy,

(A) 34 (B) 48 () 52 (D) 32

0 ABCD auciet agrsier 8, $ui AD | BC. a-u Rswll AC 1 BD wawz P i 8% 8. 91
PD =9, AP =5, PB = 7.2, dV'AC =

(A) 12 (B) 4 (©) 13 D) 9
A (cos 0, 0) »-i B (0, sin ) Bigal a2 »iaz 8.
(A). 2 (B) |cose - sin9| ©) 1 (D) |cose + sin0

A (3,0), B (0, 3) =4 C (3, 3) RABgan AABC < diaga =
(A) 6 (B) 4.5 ©) 3 (D) 9

s Aeny Bisioel wWRRR 18 8, db - dad) dous deel wy ?

(A) 643 B) 6 ©) 343 (D) 3
A(L, 2), B(2, 3), C3, 4) »ulai Bigail 8. DA wuden W) 53 ucu & ?

(A) A, B, C 3w w4, ‘ (B) AC + BC = AB
(C©) B3 AC 4 3.[. <. (D) AB + BC = AC
P(2, -5) il Y-8 W2 €12 diul dorue N g, ol N -1 am 8.
5
(A) (1, —;) B) (0, -5) © (2,0) D) (2,-5)

—

&m& 12 sels . PART-B 50 3@@

Q

SECTION - A

DAt u2lfl 2sni Qe 53 s 2L, (ucdseu 2 31 16
Lo 942 ol 20 3l youls) o Fediy eysll aisi Ad) ety 4eyils ollel.
2. s Awd 8x* + Tx - 6 i 22 — x + 2 Ad) Az Wl B, dl ucls Ad) Aol Baiet 2,

-~

3. il v Yol gl Gurdl ez 8 £ 3 8. ui end wd) Rotell Guaedl LR 9 ¢ 4 ugl.
ol eretll Gz oied.




4. 7 -l 3eal ol ~eL sl v Gy ?
PUET
4. saun e ARl 231, 228, 225, ... A3, 6, 9 ...« n ML UL AL G ?
5. APQR¥im ZQ =90 21 PQ =QR, QM L PR. M e PR. % QM = 2, dl PQ 2.
6.  X-at8 e g (g 2l B A (-1, 2) A B (5, 4) 2l A 2idd .
7. Wl s s 0 Az) e cos?A = 0
cosec’A
AU
7. %cot® = J7,d Cosecze - Secie Al a2l
: : cosec“0 + sec” 0
8. Dl wulen sugl - [0l eigas 2l :
ol 0 15 15 ~-"30 30 - 45 45 - 60 60-75 1 75-90 | 90 - 105
sugft 8 16 23 57 33 23 13
SECTION - B
QDA esien e 1l ol 539 waie sudl. (eds-u 3 ) 12
9. s ag dw oudl A s el 2l 134 a2l dsiad 20km/h B. R 400km iR S1uHi
el 2udlA 958l ol sl 1 sels Beal uMd Ay ), dl oA audlbiiql sy 20el.
10. h w2dl RiRleet Glus w2 GLE 3 %2 [Rauruiell o¥ilr U2 Well A Srgeil 24aRURIAL HY o
3 N T . . h(ana - tanp) 5
A B (o0 > B) HGH U3 O, dl & 2rs RAG 2R - i ik AUGKA 53U,
11, s Rssl ARl avid Gewiaml 2ud 8. DA 2udell sa-pil-) Aeud- Al
(1) A : Ui >0 & o1y 1Al
(2) B : gl ay s o Ha,
(3) C: 52l sdl oouell vl Ay U,
12, 2uou-t 4R6L 10 i 45 [Qenldivi axeid 25 adaol ¢ el ey 2 A3 yorord)
Hfeddl aoll.
ax+ (kg) 20-25 | 25-30 35 - 40‘ 40 -45 | 45 -50] 50 - 55

(clenellicl vy 2 5 8 10 7 10 3

30 - 35




SECTION - C
O DAd naediet oA 1usl oead sA ot sl uels- 4 49) 12

13. O (0, ) W A »A B i [t Figall 93 7l A 2w B Bigal adu ek 2uelsi P

AN AN — N e B = N S
Figal 8% 8. wlid s, op 2l ZAOB -l % PO 1 ZAPB Al Bows ©.

14. OA 17 OB a3l adarll ueau det Bl 8. A aggrin-d WRMA 20 Al Sl el st
i34 @ggrivis Ansn Aol
15, uaued a5 el 20 Al cln Ansrl 83 ol 2usdedll sl 8. A adl g Glaus
40 A 14 L AUsIR ¢l iRt 14 A il Wil Gureu oLl AR 24 AL S, ol
2Qaedl Gt QR R Asa el (V17 = 4.123 al)
Y

15. 915 weblousi 28l weledl Wyl eiel & 3+l Bt 2.4 3R 8 2 A5 WU aA A ©
% 7 [z, ARt s2el we vuel 52 8. dl v 2idl Yoyl vuell 52 Yoell unu vl ?

SECTION - D
O DA Naelel e WL Feuot ikl (s 5 AR 10
16. © (P, 4) wAd B. il adad A 2l A Y well el Selig A uR dutrll - vieud

1Y 60 .

17. 2wl Hoeid 30 avl 2ia ulid 52U,
UL

},_—1_::____.*-__—

&

17. AABC im ZA =90 »3 AD + BC, D € BC dl il 5







